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QUESTION 1

Which two methods expose volumes to NAS clients? (Choose Two)
A. Mount directories of a volume in a namespace

B. Mount the required namespaces in a volume

C. Mount the required namespaces in an aggregate

D. Mount the required volumes in a namespace

Correct Answer: AD

QUESTION 2

What are the two valid NDMP modes? (Choose two.)
A. local-scoped

B. node-scoped

C. SVM-scoped

D. cluster-scoped

Correct Answer: BC

Reference: http://documents.software.dell.com/netvault-backup-plug-in-for- ndmp/10.0.5/application-notesfor-netapp-
ontap/installation-and-configuration- prerequisites/configuration-prerequisites? ParentProduct=753

If you install a new Data ONTAP 8.2 cluster, NDMP is in the SVM-scoped NDMP mode by default. To perform tape
backup and restore operations in the node-scoped NDMP mode, you must explicitly enable the node-scoped NDMP
mode

https://library.netapp.com/ecmdocs/ECMP1368707/html/GUID-BDE7061D-A905-423E- A8B463D1C7F3D114.html

QUESTION 3

You have two LIFs homed on the same single-mode interface group. You want to leverage both 10 Gb interfaces as
active/active.

What must you do to use both 10 Gb interfaces?

A. Move one of the LIFs to another node in the cluster.

B. Delete the interface group, and home each LIF to one port each.

C. Create another single-mode interface group and move one LIF to it.

D. Change the ifgrp distribution function from the default IP setting to MAC.
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Correct Answer: C

QUESTION 4

A customer wants the best performance for their Oracle DB solution. They are willing to configure their high-availability
nodes so the load is less than 50% per node, to protect performance during failover. They want to enhance read and
write performance.

Which NetApp technology accomplishes this task?

A. deduplication

B. thin provisioning

C. Flash Pool

D. FlashCache

Correct Answer: C

QUESTION 5

An administrator is attempting to add two FAS8020 nodes to an existing cluster of eight FAS2552 nodes. They are
receiving an error when attempting to join the new nodes.

What is causing this error?

A. The cluster switch connections have been cabled incorrectly.

B. The disk shelves on one of the new nodes are displaying an error.

C. The maximum number of nodes is already in the cluster.

D. The new nodes are running a newer version of clustered Data ONTAP.

Correct Answer: D

QUESTION 6

On wich component the QoS can be applied? (Choose Two)
A. vserver

B. node

C. volume

D. gtree

E. aggregate
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F. LUN

G. igroup

Correct Answer: CF

Storage QoS workload management allows you to control the resources that can be consumed by storage objects (such

as volumes, LUNs, VMDKs, or SVMs)
https://communities.netapp.com/community/netappblogs/sanbytes/blog/2013/10/03/how- storage-qos-works

QUESTION 7

Administrator can natively run Data ONTAP-7Mode commands in what shell?
A. Adminshell

B. Clustershell

C. Nodeshell

D. Systemshell

Correct Answer: C

https://library.netapp.com/ecmdocs/ECMP1196780/html/GUID-64D7ED18-1918-4B73- B535A483584C8BFF.html

QUESTION 8

You create an SVM named svm?7. Its DNS name is ntap7. In svym7, you create a volume named voll with a junction path
of /users.

An NFS client would mount the root of voll using which path?
A. svm7:/users

B. ntap7:/users

C. ntap7:/voll

D. svm7:/voll

Correct Answer: A

QUESTION 9

In clustered Data ONTAP 8.2 or later, what is largest number of nodes that can be supported with any enabled SAN
protocols?

A 4

B.6
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C.8

D. 10

E. 12

F. 24

Correct Answer: C

https://communities.netapp.com/docs/DOC-27777

QUESTION 10

Which of the following are appropriate client specification for an export rule? (Choose all that apply)
A. 0.0.0.0/0

B. 192.168.5.0/24

C. .eng.netapp.com

D. \\vs_root\192.168.153.128

Correct Answer. ABC

QUESTION 11

What is true about a node root volume?

A. There is a root volume on every node in a cluster.

B. It is the root of a data SVM\\'s namespace.

C. You can use vol move to move it to an aggregate on a different node.
D. It is the most secure place to store critical user data.

Correct Answer: C

Contact technical support if you need to designate a different volume to be the new root volume or move the root
volume to another aggregate.

Reference: https://library.netapp.com/ecmdocs/ECMP1196798/html/GUID-A60F4F83-
0034-4DB8-838B06E9D4BEF9A4.html

QUESTION 12
Which feature is NOT supported by clustered Data ONTAP 8.27?

A. Synchronous SnapMirror

NS0-157 PDF Dumps | NS0-157 Exam Questions | NS0-157 Braindumps 517


https://www.leads4pass.com/ns0-157.html
https://www.leads4pass.com/ns0-157.html
https://www.leads4pass.com/ns0-157.html

https://lwww.leads4pass.com/ns0-157.html
2024 Latest leads4pass NS0-157 PDF and VCE dumps Download

B. Data Protection Mirrors
C. Load Sharing Mirrors
D. Non-disruptive upgrades

Correct Answer: A

QUESTION 13

Which aggregate type is supported for Flash Pool?
A. Traditional

B. 32-bit

C. 64 bit

D. 128-hit

Correct Answer: C

Flash Pool Design and Implementation Guide

QUESTION 14

Which two methods can be used to upgrade clustered Data ONTAP 8.2 or later? (Choose two)
A. USB upgrades

B. Split upgrades

C. Skip generation upgrades

D. Rolling upgrades

E. Batch upgrades

Correct Answer: DE

QUESTION 15

The vifMgr is out of quorum on the node that is the master for the vifMgr ring. Which of the following statements are
true? (choose all that apply)

A. A new master will be elected for the vifMgr RDB unit
B. Epsilon will not be available in the cluster

C. Clients can access data through the LIFs on this node
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D. A new LIF can be created for a data vserver

Correct Answer: AC
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